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Subroutine ctrans(ekm,t)

implicit real*8(a-h,0-2)

dimension ekm(24,24),t(3,3),ekms(3,3),ekmt(3,3)
doni =1,4

donj=1,4

ib= 3*(ni-1)

Jb= 3*(nj-1)

do i
do j
ekms(i,j) = ekm(ib+i,jbtj) lTekm : DOOOOOOODOO
end do
end do

[L1~T[kninj]

1,3
1,3

o

do k = 1,3

s = s + t(k,i)*ekms(k,}) 't : 00O0O0ooooooL]
end do

ekmt(i,j) = s I [L]MT[kninj]

end do

end do

[LI TLkning][L]

(@)

do k =1,3

s = s + ekmt(i,k)*t(k,j)

end do

ekm(ib+i,jb+j) ='s ! [LI[kninj][L]
end do

end do

end do
end do
return
end



